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QUESTION 1

An HR representative enters employee details in the application as part of the hiring process. On the Review page, the
HR representative notices that Person Number does not show any number, but indicates "Generated Automatically". 

Identify the option that relates to this intended behavior. 

A. Person Number at the Enterprise Level is set to Manual. 

B. Person Number at the Enterprise Level is set to Automatic before submission. 

C. Person Number at the Enterprise Level is set to Automatic after final save. 

D. Worker Number at the Enterprise Level is set to Manual. 

Correct Answer: C 

 

QUESTION 2

Your customer wants to know how many employees are leaving the organization on their own. Identify the correct
sequence of steps that you need to perform to meet this requirement. 

A. Create a new action > Create a new reason and use it during termination. 

B. Create a new action type > Create a new action > Create a new action reason and use it during termination. 

C. Create a new action reason and associate it with the available action type. Use it during termination. 

D. Create a new action type > Create a new action reason and use it during termination. 

E. Create a new action > Associate it with an existing action type > Create a new action reason and use it during
termination. 

Correct Answer: C 

 

QUESTION 3

Action Reasons provide further explanation for actions, for example, an action of transfer could have reasons such as
reorganization or career progression. As a developer, you have created Actions as part of Oracle Global Human
Resources Cloud setup. Now you are in the process of adding Action Reasons. 

Identify the three correct statements regarding Action Reasons. 

A. Action Reasons can be user defined. 

B. Action Reasons are primarily used for analysis and reporting. 

C. Worker termination predictions use Action and Action Reason to determine whether termination is voluntary or
involuntary. 

D. Action Reasons can be deleted if no longer being used. 
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Correct Answer: ABC 

 

QUESTION 4

Which three options are true about the Global Person model? 

A. Person records are global, independent of legal employers, and created only once for any person. 

B. Person records continue to exist even when the person has no current work relationships in the enterprise and no
current contact relationships with other workers. 

C. Person records cease to exist when a person is terminated from an organization. 

D. Person records hold information that is personal, such as name, date of birth, and disability information, or that may
apply to more than one work relationship, such as national ID. 

E. Person records are auto-archived two years after a person is terminated from an organization. 

Correct Answer: ABD 

 

QUESTION 5

Identify three correct statements about Workforce Life Cycle. 

A. HR specialists can create and manage work relationships, employment terms, and assignments for the workers to
whim they have security access. 

B. The Add Person tasks include creating a new person\\'s first work relationship with the enterprise. 

C. Line Managers can transfer their direct and indirect reports only. 

D. HR specialists and line managers can create and manage work relationships, employment terms, and assignments
for all the workers. 

E. Line managers can create and manage work relationships, employment terms, and assignments for all workers. 

Correct Answer: ABC 
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